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一、将你的姓名、考号填写在答题卡的规定栏内，将考号和考试科目在规定的栏内用2B铅笔涂满涂黑。考试结束后，把试卷和答题卡放在桌上。试卷和答题卡均不得带出考场。

二、仔细读懂题目的说明，并按题目要求答题。答案一定要写在答题卡的指定位置上，写在试卷上的答案无效。

三、选择题用2B铅笔将选中项涂满涂黑，主观题用蓝、黑圆珠笔或钢笔答题，使用铅笔答题无效。

Information for the Examinees:

This examination consists of THREE parts. They are:

   Part Ⅰ: Reading Comprehension  (50 points, 60 minutes)

   Part Ⅱ: Vocabulary and Structure (30 points, 30 minutes)

   Part Ⅲ: Writing (20 points, 30 minutes)

The total score for this examination is 100. The time allowed for this examination is 2 hours (120 minutes).
Section A  Questions 1- 5 are based on this section. (10 points)
Directions: Read the following passage and choose the best answer from A, B, C and D. Blacken the corresponding letter on the Answer Sheet.
James Cleveland Owens was born in 1913 in a small town in Alabama. His parents were farmers. 
Owens excelled at track and field(田径) in high school. By the time he graduated, 28 different colleges had offered him scholarships. In May 1935, Owens competed in the Big Ten college track championships in Ann Arbor, Michigan. During the meet, he tied the world record for the 100-yard dash and set a new world record in the long jump that would last 25 years. In August 1936, Owens traveled to Berlin, Germany, to compete in the 1936 Summer Olympics. At that time Germany was ruled by Adolf Hitler and his Nazi Party. Hitler believed that German people were superior to all others. He expected Germany’s athletes to lead the Olympic Games. This would prove to the world that Germans were the best. Owens broke Hitler’s plans.
Owens came first in every event he entered. He won gold medals in the 100-meter sprint(短跑), the 200-meter sprint, and the long jump. Then he joined three U.S. teammates to take the gold in the 4x100-meter relay (接力). Owens was the only athlete to win four gold medals at the 1936 Summer Olympics. Despite Hitler’s disappointment, the German people cheered Owens wherever he went.
After his Olympic victories, Owens worked in community service, especially with young people. He spoke often about the importance of fair play and how success in sports can lead to success in other areas of life. In 1979, President Jimmy Carter presented Owens with the Living Legend Award. 
1.  Who is James Cleveland Owen ?

    A. 
He is a college student.             

B.
He is a farmer.

C.
He is a sportsman.                 

D.
He is a high school teacher. 

2. Owen had kept a record in long-jump for ______ years.

A.  40          
B.  35   


  

C.  100               

D.  25

3.  The 1936 Summer Olympic Games was held in ______.

 
A.  Germany    

B. 
America          

C.  China          

D. 
Japan

4. Which of the following items was NOT mentioned in Owens’s gold medal winning?

 
A.
High jump.    

B. 
Long jump.         

C.  4×100 relay.         

D.  200-meter sprint.
5. The US president in 1979 was ______.

 
A.  A. Lincoln    

B.  B. Clinton         

C.  G. Bush          

D.  J. Carter

Section B  Questions 6-10 are based on this section. (10 points)
Directions: Read the following passage and choose the best answer from A, B, C and D. Blacken the corresponding letter on the Answer Sheet.
Riding a bicycle is a great way to get around. Bicycles are quiet, fun to ride, and you don’t need gas or electricity to make them go. You just use the power of your legs! Bicycles have two wheels. One wheel is in front of the other. You swing your leg over the bike, sit down, and start pedaling(踩踏板). The heart of every bicycle is its frame. Most bicycles have frames made of thin metal tubes. The best frames are light and strong. A seat, called a saddle, is in the middle of the frame. You can make the seat higher or lower.
Bicycle wheels usually have wire spokes(轮辐). Spokes help the wheel keep its round shape. Inflatable(可充气的) tires fit on the wheels. The wheels have brakes(刹车) for stopping.
A bicycle has handlebars(手把). You use the handlebars to guide and help you balance on two wheels. Pedals and a chain make a bike go. You put your feet on the pedals and push. The pedals go around and around. The turning pedals move a chain. The chain goes to the back wheel. The chain goes around a part called a cog(齿轮). Most bicycles have a gearshift(变速排挡) attached to the frame or the handlebars. Bikes usually have from 5 to 27 gears. You use low gears for going up a hill. You use high gears for going faster, usually on flat roads or downhill.
There are 6 basic kinds of bicycles: touring, mountain, hybrid, utility, racing, and specialty. Bicycles made for kids are smaller than those for adults. Training wheels may be added to help young riders learn basic balancing skills.

6.  Bicycle is all the following EXCEPT ______.
    A.
humorous      

B. 
fun to ride    

C.
quiet        

D.
energy-saving

7. 
The ______ is in the middle of the frame and can be made higher of lower.

 
A. 
saddle         

B. 
pedal        

C.
brake         

D.
wheel

8.
______ and a chain make a bike go. 

A.
Saddle       

B.
Pedal       

C.
Brake        

D. 
Wheel

9. 
Generally speaking, bicycles have following gears EXCEPT ______.

A. 
6            

B.
12          

C.
26          

D.
28

10.
Which of the following is not a basic kind of bicycles?

A. 
mountain    

B.
water      

C.
hybrid        

D. 
racing 
Section C  Questions 11-15 are based on this section. (10 points)

Directions: In this section, there is one passage followed by a total of five pieces of information marked 1, 2, 3, 4 and 5 in Column A. Match them with their correspondent parts marked A, B, C, D and E in Column B. Skim or scan the text as required and then blacken your answers on your answer sheet.
Saddam Hussein led a stormy life as the ruler of Iraq. He fought three big wars during his 24 years in power. The third war ended his rule.
Saddam Hussein was born to a poor farming family in Tikrit, Iraq. In 1955, he joined the Baath Party(叙利亚社会党). This group wanted to build one big Arab nation. In 1959, Hussein tried to kill Iraq’s president. After failing, he fled to Egypt. Four years later, Hussein came back. In 1968, he and his friends in the Baath Party overthrew Iraq’s government. The Baath Party’s top leader became president. The new government took charge of the nation’s oil industry. They used the money to build schools, factories, highways, and hospitals. In 1979, Iraq’s president retired. Hussein took his place, becoming head of the Baath Party and president1 of Iraq.
In 1979, a revolution broke out in the neighboring country of Iran. There, a new government based on the Islamic religion took over. Hussein attacked his neighbor in 1980. The Iran-Iraq War went until 1988. It killed hundreds of thousands of people and left Iraq deeply in debt. Iraq owed a great deal of money to Kuwait, another neighbor. In 1990, Hussein’s army invaded Kuwait. A group of countries led by the United States set out to stop Hussein in the Persian Gulf War. They drove Hussein’s army back after 43 days of fighting.
After Hussein’s defeat in Kuwait, revolts against him broke out in Iraq. Hussein crushed them all. He killed many people he suspected of disloyalty. He sent many more to prison. 

In 2002, U.S. leaders accused Hussein of trying to build weapons of mass destruction (种族大屠杀). They also said he was helping terrorists. In March 2003, the United States invaded Iraq. Britain and several other countries helped. This war officially ended in May 2003. By then, Hussein had been driven from power. Saddam Hussein was captured by U.S. troops in December 2003. He was found hiding in a covered pit near his hometown of Tikrit.
	
	A
	
	B

	11.
	became head of the Baath Party and president1 of Iraq;

attack his neighbor the next year.
	
	A.  1955

	12.
	invaded Kuwait but driven out in 43 days by US army.
	
	B.  1968

	13.
	overthrew Iraq’s government
	
	C  1979

	14.
	driven from power by US army and was arrested being accused of trying to build weapons of mass destruction.
	
	D.  1990

	15.
	joined the Baath Party;
	
	E.  2003


Section D  Questions 16 - 20 are based on this section. (10 points)
Directions: Read the following passage and choose the best answer from A, B, C and D. Blacken the corresponding letter on the Answer Sheet.
A castle was the fortress and home of a king and queen, or nobleman. It offered excellent protection to the person who owned it. A castle helped its owner defend the land on which it stood. It also served as a house for the owner’s family and many servants.
Most of the castles we think of today were built in Europe. They were constructed from about AD 1000 to about 1500, during a period known as the Middle Ages. 
Castles played an important role in a system called feudalism(封建主义). That system arose in Europe after the fall of the Roman Empire. In feudalism, a king gave land to nobles. In return, the nobles promised to serve the king and provide him with soldiers.
Nobles built castles on the lands given to them by the king. But some nobles simply claimed land as their own and built a castle on it. That was asking for trouble. There were many power struggles between nobles and kings, and among the nobles themselves. If one wanted to protect himself, he needed a good castle.
A typical stone castle had several main parts. At the center of the castle was a tall and very strong building called the keep. This is where people in the castle made their last stand if the outer defenses failed. Many stone castles were surrounded by a wide ditch called a moat (城壕). Some moats were filled with water, but many were not. The only way into the castle was across a wooden drawbridge over the moat.
A well-built castle was a pretty safe place to be. Attackers had a hard time getting in. They had four main options. They could go over the walls using ladders. They could smash through the walls. Or they could dig under the walls and try to get part of one to fall down. If none of those things worked, they could just camp outside until the defenders ran out of food.
16.
 Which of the following is not true about a castle?
 
A. 
It’s a home of a king, queen or a nobleman.

 
B. 
It can protect the owner well.      

C. 
It houses the owner, his family and servants.

D. 
Most castles were built in American. 
17. 
The Middle Ages is ______.

 
A.
a period between 1000 and 1500 A.D. in Europe

 
B.
a period between 1000 and 1500 A.D. in America      

C. 
a period between 1000 and 1500 B.C. in Europe           

D. 
a period between 1000 and 1500B.C. in America
18. 
In feudalism, ______.

 
A.
nobles gave land to the king and promised to serve him    

B.
nobles promised to serve the king and provide him with soldiers      

C. 
the king gave land to nobles and promised to serve them          

D. 
the king promised to serve the nobles and provided them with soldiers
19. 
A typical castle often includes all the following parts EXCEPT ______.

 
A.
the keep   

B. 
a moat     

C. 
a drawbridge          

D.
a football field

20. 
Which of the following is not mentioned in the passage when enemies attack a castle?
 
A. 
they could burn up the walls.   

B. 
they could smash through the walls.

C. 
they could just camp outside until the defenders ran out of food.          

D. 
they could dig under the walls and try to get part of one to fall down    

Section E   Questions 21- 25 are based on this section. (10 points)

Directions: Read the following passage and choose the best answer from A, B, C and D. Blacken the corresponding letter on the Answer Sheet.
Every four years, athletes(运动员) from around the world come together to compete in the Olympic Games. Do you know why this event is called the Olympics? The games were first held at Olympia in ancient Greece. The ancient Olympic Games honored the Greek god Zeus. It began as far back as 776 BC. That’s when the Greeks began keeping records of the winners. The ancient Games continued until about 392 AD, more than 1,000 years!

Athletes came from cities throughout Greece to compete in races, boxing and wrestling matches, gymnastics, and weightlifting. They also threw spears, hurled a discus (掷铁饼), and jumped for distance(跳远). Wealthy Greeks raced their horses. Winners were crowned with wreaths(花冠) of olive or palm(棕榈) leaves. The ancient Olympic Games were not just a sporting event, however. There were competitions in poetry, music, speechmaking, and other arts as well. 
The Modern Olympic Games were brought back in 1896. The first modern Olympic Games were held in Athens, the capital of Greece. Only nine countries participated in the first Games, and all the athletes were male. Today, some 10,000 athletes compete in the Olympic Games, and nearly half of them are female. They represent about 200 nations.
After each Olympic event, medals are awarded to the competitors who finish in first, second, and third place. First-place winners receive a gold medal. Those who finish in second place receive a silver medal, and those in third place, a bronze medal.
21. 
The Ancient Olympic Game was held in ______.

A.
ancient Greek              

B. 
ancient China      

C.
Paris                     

D. 
Egypt

22. 
The Ancient Olympic Games lasted for _____ years.

 
A.
less than 1,000              

B.
more than 1,000       

C. 
exactly 1,000                

D. 
not mentioned in the passage

23.  Which of the following items of Ancient Olympic Games are NOT included in modern Olympic Game?
A. 
Races, boxing and wrestling.    

B. 
Spears, discus, horse-racing and jump for distance.

C.
Gymnastics, and weightlifting.   

D.
Competitions in poetry, music and speechmaking.

24. 
There were _____ countries attending the first modern Olympic Games in _____. 
 
A.
4/  1896       

B. 
6/  1998      

C.
9/  1896          


D. 
10/ 1996

25. 
Today about _______ FEMALE sportsmen take part in the Olympic games--- they represent about 200 countries.

 
A. 
10,000       

B. 
20,000      

C. 
5,000          

D. 
2,000

Part Ⅱ: Vocabulary and Structure             (30 points)                                  

Instructions:

· This part will take 30 minutes.
· There are TWO sections in this part.
Mark ALL your answers by blackening the corresponding letter on the Answer Sheet, e.g. [ A ].
Section A    Questions 26- 35 are based on this section. (15 points)
Directions: Read the following sentences and choose the best answer from A, B, C and D. Blacken the corresponding letter on the Answer Sheet.

26. Our ______ sensitivity decreases with age. By age of 60, most people have lost 40  

percent of their ability to smell and 50 percent of their taste buds.
   A. sensible            B. senseless        C. sensitive         D. sensory
27. She will have to find somewhere else to work, for she can’t ____ this loud noise any longer.
A. come up with        B. catch up with     C. keep up with      D. put up with
28. I’m sorry to have ____ you with so many questions on such an occasion. 
A. interfered        B. bothered         C. impressed      D. offended

29. Although I spoke to her about the matter several times, she took little ____ of what I said. 
A. remark             B. warning            C. notice           D. attention
30. That’s nice coat, and the color ____ you well.  

A. suits             B. fits                C. matches         D. shows

31. I understand ______ preparation that staff must put in under pressure to meet the deadline.
A. more than the enormous amount of      B. better than most the enormous number of
C. better than most the enormous amount of  D. fewer than the number of
32. It is typical _____ late at night. 

   A. of him to come home                   B. for him to come home     

C. of him to come to home                 D. of him to come at home
33. ______ there is little we can do to modify the weather, we can at least know what kind of weather to expect.
A. Since              B. When             C. While            D. Unless
34. The board deemed it’s urgent that these files ______ right away.
A. had to be printed                      B. should have been printed  
C. must be printed                       D. should be printed
35. She resorted to ______ when she had no money to buy foods for her children.
   A. have stolen         B. steal               C. stole             D. stealing
Section B     Questions 36 - 45 are based on this section. (15 points)
Directions: Read the following passage and fill in each blank by choosing the best answer from A, B, C and D. Blacken the corresponding letter on the Answer Sheet.

Everyone wants the best for a baby. A mother wants her baby to have the best in   36   of food, toilet preparations, clothing and equipment. Her value judgments on prices may be changed when it   37   buying things for a baby, particularly the first one. 

Manufacturers and advertisers recognize this, and   38   it to the full. Far more is spent in buying pushchairs, special milk, and special powders for small babies   39   is necessary. The child himself watches television, a particularly strong   40   on small children. Observing them as they watch television, and then watching them react to products afterwards,   41   that young children accept the suggestions of television advertisements   42   the guidance offered by children’s programmers, and find both equally attractive. 

The child comes early in life to the   43   widespread in this country that if something is said on television it must be true.   44   this reason much Christmas present advertising, and advertising for sweets, food, washing powders, is geared to children because of the effect their children can have   45   their mothers. By exercising choice in this way they become consumers at an early age and the probability is that, with current pressures, choosing and buying goods and services will remain an important part of their future lives. 
	36.
	A. the way
	B. which
	C. ways
	D. a way 

	37.
	A. talks about
	B. comes to
	C. speaks
	D. needs

	38.
	A. expand
	B. exploit
	C. explain
	D. explode

	39.
	A. what

	B. that
	C. as
	D. than

	40.
	A. influence
	B. effect
	C. affect
	D. infect

	41.
	A. suggest
	B. suggests
	C. it suggests
	D. suggesting

	42.
	A. as far as

	B. as much as
	C. as well as
	D. as long as

	43.
	A. phenomenon
	B. statement
	C. truth
	D. feeling

	44. 
	A. Because
	B. With
	C. For
	D. As

	45.
	A. on
	B. from
	C. to

	D. for


Part Ⅲ: Writing             (20 points)                                  

Instructions:

· This part will take 30 minutes.
· Your essay should be no less than 150 words.
Write your essay on the Answer Sheet. 
Write an essay on the topic “Studying Abroad”. You should base your essay on the outline below:

1. 出国留学的困难

2. 出国留学的好处

3. 你的观点
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Part Ⅰ: Reading Comprehension  (50 points, 60 minutes)
Section A  
1-5  CDAAD
Section B  
6-10  AABDB
Section C
11-15  CDBEA
Section D

16-20  DABDA
Section E

21-25  ABCCC
Part Ⅱ: Vocabulary and Structure (30 points, 30 minutes)
Section A
26-30   DDBCA       31-35  CACDD 

Section B

36-40   ABBDA       41-45  ACDCA
Part Ⅲ: Writing (20 points, 30 minutes)
作文满分为20分，分为内容（满分6分）、语言（满分12分）和书写（满分2分）三部分打分，三部分分值相加的分数即为作文的总分。各部分评分标准如下：

	项  目
	分  数
	标                                                准

	内

容
	6
	文章切题，内容充实，有独到之处；篇幅适当；结构安排十分合理

	
	5
	文章切题，内容适合；篇幅适当；结构合理

	
	4
	基本切题，但内容有待充实；篇幅适当；结构需适当调整

	
	3
	大致切题，但欠缺关键内容；篇幅不够；结构需进行较大调整

	
	0~2
	没有切题，包含大量无关内容，篇幅不够，结构松散

	语

言
	11~12
	行文流畅，语言得体；句子结构有变化，用词丰富；无语法错误

	
	9~10
	语言自然得体；准确地使用常用语法结构；语法和选词基本无错误

	
	7~8
	语言基本得当；有少量语法错误、选词错误，或拼写错误，不致引起阅读困难

	
	5~6
	语言有不当之处；关键内容表达上无严重语法错误，其它语法和词汇错误不致引起阅读困难

	
	3~4
	语言错误多，导致对关键内容的阅读理解困难或误解

	
	0~2
	语言错误过多，无法阅读理解

	书

写
	2
	书写工整，能清晰认读

	
	1
	书写有不工整之处，造成认读困难

	
	0
	书写不工整，全篇认读困难


